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Exercise 12E
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No, she gets %

a 13 b 67.5% c No. It must be a multiple of 40 but
40 not necessarily the first multiple of 40
7

Qs W

a Ida has about 26% yellow, Elin has about 25% so Ida has
the greatest proportion of yellow counters.

b Percentage

A has about 61% red, B has 64% red. So B is darker.

No, box A has a mass of 125 g, B has a mass of 124 g

a A clear glass holds 435 ml, a coloured glass holds 425 ml.
So a clear glass holds more.

b The maximum possible amount of water was put into each
glass.

The largest angle in triangle A is 82.5°. The largest angle in

triangle B is 90°. So B has the largest angle.

10 Bag B has the greater proportion of black balls — it may not

11

have a greater number of black balls.
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Investigation

12, 24, 36 and 48 are all 1,75 times as big when the digits are
reversed. It is not possible to find a two-digit number that is 1.5
times as big.
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a 2750ml b 8

a 2:1 b 20:3 ¢.1:12 d 39:10

e 1:80 f 9:200 000 . d
a 1:10:100 b 9:10 ¢ 5:1:3  ‘diefc 255NN
e 23:7 r 259 doloes "8 & 1
a 18cm; 12cm b 180g; 150 -

¢ 600ml; 1200ml; 900ml d 24 mins;
600

1
ar— b 31.25%
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250mI pineapple juice, 150ml orange | ui
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i defniely e
1 23 were in
iv false; b 25 of his shots
v could be true
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Summary

Check out

1 a 43 b 5:4

2 a 2:3 b 2:5
€ 952

3 a $32,$8 and $40
¢ $8and $72
e $16,$16 and $48

4 Dmitry has 65.2%. Tamar has 65%. So Dmitry hz

proportion of bags.

c 15:1
c $3:11 4 837

b $50 and $30
d $32,$28and $20
f $12,$20and $48
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